Egyptian Cotton Brightness Worksheet - Multiple Regression

· Dependent Variable: Luminence

· Independent Variables: Ln(Grade), Type (Giza67,Giza68,Giza69,Giza70,Menoufi) with 4 Giza Dummys

· Total Variation in Luminence: TSS = __________________________________  n=___________
Model 1: E(Lum) = *Ln(Grade)   

 SSR1 = _________  SSE1 = ________   R12 = __________   df(Error)1 = __________

Test of H0: = 0

Test Statistic:                                                                           Rejection Region:

Model 2: E(Lum) = *Ln(Grade)   +  Giza67 + Giza68 +  Giza69 +  Giza70
 SSR2 = _________  SSE2 = ________   R22 = __________   df(Error)2 = __________

Test of H0: = 0

Test Statistic:                                                                           Rejection Region:

Model 3: E(L) =*Ln(Gr)+Giza6 +Giza68+ Giza69 + Giza70 + *Ln(Gr)*G67+ *Ln(Gr)*G68 +*Ln(Gr)*G69 +*Ln(Gr)*G70 
 SSR3 = _________  SSE3 = ________   R32 = __________   df(Error)3 = __________
Test of H0: = 0

Test Statistic:                                                                           Rejection Region:

